
1)  A plant is 11 inches tall.  If it grows 15 inches, how tall will it be?


Gold E





A.  26 feet	


B.  4 inches


C.  15 inches


D.  26 inches





7)  Matt had $471 saved.  He spent $79 on clothes.  How much does he have now?  Green D





A.  $550





B.  $392





C.  $479





D.  $0





ANSWERS





1)  





2)  





3)  





4)  





5)  





6)  





7)





8)  





2)  What number is represented by the decimal model?  Yellow B





F.  1.03


G. 103


H.  1.3


J.   130





3)  What customary unit would be most suited to measure the length of a tennis court? Purple B





A.  yards


B.  miles


C.  meters


D.  quarts





4)  Solve.  Show your work.  Purple F





F.  


G.  


H.  


J.  





5)  What is the mode of this set of basketball scores?  Cherry A





	41,  38,  52,  57,  41,  52,  32,  38,  38





41


57


38


1,000,000


























6)  Look at the thermometer.  If the temperature decreases 7°, what will the temperature then be? Green B











96°


103°


89°


7°




















8)  There are 28 kids.  Each eats 3 hot dogs.  How many hot dogs are eaten?  Orange B





31


84


9r1


25
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








